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SA e

A R[4 A= 70 AEH(sHNLHM/5Y - SE)

&Pl Sy 33H ML EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Hsaty 2gerd N 70,000 90,240 AN20,240

308 XXM SOIA 70,000 90,240 AN20,240
01 XN B2 LS 70,000 90,240 N20,240
OY=ag 2gord A& 70,000
=AY Sliet X3 22,500 15,000 7,500
403 AXIEHMSA=01d 22,500 15,000 7,500
01 AXIHHA=2 2L 22,500 15,000 7,500
OALNIE JI=EUAE 75 22,500
F¥gd=E 3E dalgt 55,926 76,860 A20,934
202 04| 6,426 5,35 1,071
01 =LHOLI 6.426 5,35 1,071
OFYL= 2Y g HRFX 6,426
308 XXM SOl 49,500 71,505 A22,005
01 XN BELES 49,500 71,505 A22,005
OFFL= 2Y HA3gt 49,500
Fio 3 A He 566,720 888,998 N332,278
et SO0tAldAt ot 7,000 7,000 0
308 AXIHSOIA 7,000 7,000 0
01 HASHHBSEEXS 7,000 7,000 0
Ogte S0tAldar oy 7,000
=4hs0F =200 XE 117,900 141,480 A23,580
308 AFAIEHMSOIH 117,900 141,480 A\23,580
01 HXSHH B EES 117,900 141,480 N23,580
OF&tsIH =201 X2 117,900
JIEEMEE X 425,340 650,000 A224,660
308 XXM SOIA 425,340 650,000 A224,660
01 XN BELES 425,340 650,000 N224,660
OII=EMolEE X 425,340
SAE 20 HOIAIE e 6,480 9,018 N2,538
308 AHAIEMSOIE 6,480 9,018 N2,538
01 HASHHBSEXS 6,480 9,018 A2,538
O=FAAIE HDIotE B XI& 6,480
EMNE TUSMA 2= 4,169,980 4,048,970 121,010
Jl 2,265,800
= 1,904,180
IME i XJ(=1) 3,232,560 2,898,060 334,500
Il 2,200,800
s 1,031,760
308 AXIHS0IA 3,232,560 2,898,060 334,500
Jl 2,200,800
[ 1,031,760
01 MAHHBSEEXS 3,232,560 2,898,060 334,500
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SN EUD
A R[4 A= 30 SEH(sHNLM/5Y - SE)
gelr A AZ2HA 25 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OZxAtE Mk X3 3,232,560
Jl 2,200,800
== 1,031,760
ZALE A& DAY XA(=21) 104,000 104,000 0
Il 65,000
= 39,000
403 AXIEHMSAH=201d 104,000 104,000 0
Jl 65,000
= 39,000
01 AXISHHA2EE 104,000 104,000 0
OXAtZ A& JIHEH] K& 104,000
Jl 65,000
=S 39,000
S5 ZAlE Mokl X 208,520 124,600 83,920
202 04l 5,520 4,600 920
01 =LHOHI 5,520 4,600 920
OFRSA TAIE daEH| X3 gfFN 5,520
403 AXIEHHSAH=201H 203,000 120,000 83,000
01 HXIHHA =22 xR 203,000 120,000 83,000
OFFX XAtz d&tEH X3 203,000
FENE B2 IME USE =HH 194,900 278,310 A83,410
308 XXM SOIA 14,400 21,210 26,810
01 XN B2 LS 14,400 21,210 26,810
ORENH BB FA2 NZE 20 14,400
403 MR HHMSAHE01H 180,500 257,100 AT6,600
01 AXISHHA 22 % 180,500 257,100 AT76,600
OREXNY 8 ZAZ N=E = 180,500
NSE Fe= dak X2 200,000 384,000 184,000
308 AtAIEMSOIE 200,000 384,000 184,000
01 HAHHBSExRS 200,000 384,000 184,000
OLNSE =Hit= 4 X3 200,000
IMNE RSHE 28 X 84,000 120,000 /36,000
403 X SHHMSAH=01H 84,000 120,000 236,000
01 AR A =2 £ 84,000 120,000 /36,000
OZ Atz RSHH 28 XA 84,000
MNExE SX 2 X 146,000 0 146,000
308 AXIMSOIA 146,000 146,000
01 XN B2 LS 146,000 146,000
OoAMEX=E S 72 XIH 146,000
IEER N 1,344,500 2,604,900 21,260,400
Il 575,000
= 769,500
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SN EUD
A R[4 A= 70 AEH(sHNLN/5 - SE)
el JIEER AEet (==F
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SAAFINEAIS (22) 660,000 1,605,000 945,000
Jl 440,000
== 220,000
403 MR HHMSAHE01H 660,000 1,605,000 945,000
) 440,000
< 220,000
01 MHXIHHA 22X 660,000 1,605,000 A945,000
OFAF N AL 660,000
Il 440,000
= 220,000
IEER 0I8=EX(21) 202,500 255,900 A53,400
Jl 135,000
=S 67,500
308 AHXIEMSOIH 202,500 255,900 /53,400
Jl 135,000
< 67,500
01 XN BSELES 202,500 255,900 53,400
OE|H[ & 2| K& 202,500
) 135,000
= 67,500
AIESH JIE2E Xel 482,000 744,000 A262,000
403 AXIEHHSAH=201H 482,000 744,000 A262,000
01 AXIEHM A= 2 £ 482,000 744,000 262,000
Odl&et JIEER Ml 482,000
ooty M 418,416 566,180 A147,764
Jl 10,000
< 408,416
FH=F ICT 21 - ZHI(=2) 15,000 30,000 ~15,000
) 10,000
< 5,000
403 MR EHSAHE01H 15,000 30,000 15,000
Jl 10,000
= 5,000
01 XIS A =2 £ 15,000 30,000 A15,000
OH=Z ICT J1A - ZHl 15,000
7l 10,000
= 5,000
E2R AFNE UHS 220,500 280,500 260,000
403 MR SHHMSAH=01H 220,500 280,500 260,000
01 AXIEHHA 22 £ 220,500 280,500 60,000
OJ=2E dFMT WS 220,500
MRet |itsd 24 182,916 255,680 NNT2,764
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SA e
Hr: 240 W2 5D WES (SAUNBLN/SY - BE)
ol SR N (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 4,416 3,680 736
01 SLHoIH 4,416 3,680 736
OJfRe SMtsd =4 YRR 4,416
308 AXItHSOIA 165,000 225,000 60,000
01 MAHHBSEEXS 165,000 225,000 260,000
ONRet Sttsd &d 165,000
403 AXIEHMSAH=201H 13,500 27,000 13,500
01 XIS A =2 £ 13,500 27,000 213,500
OMRe Zetsd =4 13,500
=i WS 1,132,100 1,790,200 658,100
= 4,000
Jl 766,000
= 362,100
SSEX 4 HEE(=2D) 4,600 27,600 /23,000
= 4,000
= 600
308 XXM SOIA 4,600 27,600 /23,000
= 4,000
== 600
01 XN B2 LS 4,600 27,600 A23,000
S=5A & A48 4,600
= 4,000
== 600
FAHZO0F ICT 858 &a(=21) 766,000 1,200,000 434,000
Il 766,000
403 MR HHMSAH=01H 766,000 1,200,000 434,000
Jl 766,000
01 AXIEHM A =2 £ 766,000 1,200,000 434,000
OFLZ0k ICT 58 2t 766,000
Jl 766,000
AsE FeAE K& 286,500 481,500 195,000
403 AXIEHHSAH=201d 286,500 481,500 195,000
01 XIS A =2 £ 286,500 481,500 A195,000
OXlsg H&AE X2 286,500
2AZ2Y =Y XM 75,000 0 75,000
403 X SHMSAH=01H 75,000 0 75,000
01 AXISHHA =2 £ 75,000 0 75,000
OAITY =& &4 75,000
dsatey |4 302,850 346,060 /43,210
) 51,300
S 251,550
2 gXIEH K& (=12) 4,860 6,800 1,940
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SA e
A R[4 A= 30 AEH(sHNLHM/5Y - SE)
el ¥ =54 (SH9 M)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
7l 4,860
403 MR EHSAHE01H 4,860 6,800 21,940
Il 4,860
01 AXISHHA =2 £ 4,860 6,800 21,940
oY FXIEHH X 4,860
Jl 4,860
ZEESNY =4 33,150 45,500 12,350
403 XM SAH=01H 33,150 45,500 A12,350
01 AR A =2 £ 33,180 45,500 A12,350
OHHAESHY |4 33,150
JAASLY |4 188,400 263,760 AT75,360
308 AXIHSOIA 67,500 96,810 A29,310
01 HRHHBAEES 67,500 96,810 229,310
oSN | 67,500
403 AXIEHHSAH=201H 120,900 166,950 A\46,050
01 MHXIHHA 22X 120,900 166,950 N46,050
oZASNY FH 120,900
HENENE (2F0ZE E5A)(=12) 46,440 0 46,440
Il 46,440
308 XM SOIE 46,440 0 46,440
Jl 46,440
01 HRHH B E2ES 46,440 0 46,440
QIHENEXNA(R+0HEE 2SAt) 46,440
Jl 46,440
gE ZIAME XN 30,000 30,000
403 X SHHMSAH=01H 30,000 30,000
01 AXISHHA =22 & 30,000 30,000
OgZE LIAE XH 30,000
& AS st 409,426 460,843 AB1,417
) 308,836
S 100,590
SHHSOHME (21) 387,026 398,203 AN T7
Il 306,836
= 80,190
308 AFAIEHMSOIE 387,026 398,203 AN T77
Jl 306,836
= 80,190
01 AXEN B2 LS 387,026 398,203 AT
Ot s0tME 367,026
Il 306,836
== 80,190
S20t ZAsH(=21) 2,400 2,400 0
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